


(a) 72 hours (b) 64 hours
(c) 60 hours \(d}f0 hours

Pipes A and B can fill a tank in 20
hours and 30 hours, respectively,
and pipe C is an outlet pipe. If all
the three pipes are opened

together, it takes 1% hours more

than the time taken by A and B
together to fill the tank. A and B
are opened together for 7 hours,
then both are closed and C is
opened. Now C can empty the tank
in:



In AABC, /B= 87° and ZC= 60°.
Points D and E are on the sides AB
and AC, respectively, such that
/DEC=93°and DE : BC=5:9. If
AB = 14.4 cm, then the length of
AE is:

AABC ¥, /B= 87° 3R /C= 60° B
ffg D @R E w9 AB 3R AC @
Yol R 39 ¥OR 8 f& /DEC= 93°
IR DE : BC = 5:9 8| 3T AB =
14.4 99, O AE 9! Ta18 941 87

(a) 8.4 cm (b) 9 cm

(c) 7.2 cm L(d‘)/B cm




(yx=2y) (@ 30 9=
3 (a2Y?

If (x + y)® + 27(x - y)° = (Ax - 2y)
(Bx2 + Cxy + 13y2?), then the value
of (2A + B + C) is:

e (x + y)3 + 27(x .- y)? = (Ax - 2y)
(Bx2 + Cxy + 13y?), ar (2A + B + C)
& 91 &

(a) 2 (b) 1
21 (d) -2

L +71-\6
Q



The ratio of the ages of A and B, 8
years ago, was 5 : 7. The ratio of
their ages, 8 years from now, will

be 9 : 11. If the present age of C is
13 years less than that of B, and
the present age of D is 8 years less
than that of the age of A, then the
sum of the present ages of C and
D, in years, is:

8 99 U8l A 3R B &I Y & AU
5:7 IT| 3 ¥ 8 T 915 9 @I Y

& JIUd 9 : 11 BRM| I C A
g9 Y B @Y A ¥ 13 T A B,

IR D & A A A DT AY H 8 I¥
H9 8, O C 3R D & A9 MY BT
a7 (a9t ¥) 2

(a) 55 (b) 47

(c) 53 \(gy43



3
If J;+—J_— = 4, then what is the
X

value of x2(x2 - 82)?

uﬁﬁ+% = 4, T x2(x2 - 82) P
X

q9 1 87
(a) -9 (b) -36

/ -81 (d) 36



Wpho SKo wph SO
W - 0_—:|35
P
2 y) o9z US sse =<0
' \
T3 =|S 559 = 16
33 33
e —

How many numbers are there from

500 to 550 (including both) which
are neither divisible by 3 nor by
117

500 ¥ 550 @@ (G W &) A
fha N TN e W AT 3 §ARA &
11 9§ fvrsy 87

(a) 18 (b) 11
(c) 28 \.m’so

Sl Ql
=36



1 1

If + =4, 0°< 0 <
,Z _ ?2_ 1+tan® 1-tan®
__.J%/ 90°, then what is the value of
[.___{12. cosecH + secB +sinB?
1 A
‘tz:'-,L l 53 qlﬁl"'tanﬁ."l—tanﬁ- e dadhl
2 90°, dl cosec® + sec® + sin® T
<2 | £ A AT 87
-t V“(jwﬁ m) &3
(*= 2 J6 3
3 33 4+32
— d
_3pe3pn RHEFL f 07
T SuEms
I



/\A\%upkeeper sells toys, each for
Rs. 264, after giving a discount of

12% on the market price. Had he
not given any discount, he would

have earned a profit of 20%, If the
cost price of a toy is decreased by
20%, and he still wants to earn the

same percentage of the profit as
before, he should sell it for:

Uh GPMER dOR 0 R 12% @I
1 @ 9%, TS fadq P 264
# 9gar 8| Ife SR @I5 Be T8
T B, O S/ 20% BT A Ban, I
S &1 B9 Hed 20% FH &
ST B, 3R 98 3t W s I TRE

&1 G faerd fSid S drsdn
. 99 3 fhaw # S9=r =nfay?

.240 (b) Rs. 255
(c) Rs. 235 (d) Rs. 250



+ Ylx|S - 3X1Z
6!5' ‘76

U< -5
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$3. |'L

The average of 26 numbers is 54.5.

The average of the first 15
numbers is 50.4 and that of the
last 12 numbers is 62.5. If the 15th

number from the beginning is
excluded, then what is the average
of the remaining numbers?

26 G &1 39T 54.5 8| Ugell 15
&Rl &1 3T 50.4 2 3k sifaw 12
G&re &1 MEd 62.5 21 afe U9 |
1541 §&T $ 8T faar oy, 99 99
&gl T 3id

(a) 52.42 53.12
(c) 54.8 (d) 54.2



In AABC, AB=12cm, AC=35c¢cm
and /A= 90°. The bisector of ZA
meets BC at D. E is a point on AC
such that DE | AC. The length of
DE (in cm) is:

AABC, AB = 12 ¥4I, AC = 35 9!
IR /A= 90° B| /A &1 GHGASD
BC 9§ D &R fAa@r 81 E, AC R &
f§g 8 99 f5 DE LAC 2| o DE &

darg (@A) &
(a) 420/37 (b 420/47
(c) 444/35  (d) 444/37

25 YAN> Yo

X=\e




In AABC, /C=90°, M and N are

the mid points of sides AB and AC,
respectively. CM and BN intersect

at a right angle at D. If BC = 9 cm,

then what is the length (in cm) of
BN?

AABC ¥, /C= 90°, M 3R N, HH:
AB 3R AC & w7 & fdg §| cM 3R
BN, D R U GEX Pl GHADIT W

yfdee &xd 2| afe BC = 9 9 B,

BN &I oiqIs oo+l 87
J6 3
( 3 lblE\/g



A y< e
AL 3y 4SO 194
b 2 16

A can do a piece of work in 45
days. B and C together can do it in
30 days. A and B together
completed 80% of the work in 20

days. How many days will C alone
take to complete 70% of the

remaining work?

A T% & B 45 R § o a1 |
B 3R C fAeax 39 30 fadf § @
Hahd 2| A 3R B fAciax o1t o1 80%
AT 20 3 ¥ w1 Fxa §| O 9 B

T 70% 1T C 3del fdoaq &A1 # g
HT?
(a) 15 (b) 12

\_AeT 9 @ (d) 10



(a) 6

Lief7.5

(b) S
(d) 9

Suhas, a 3.15 m tall tree, and an
11.25 m  tall Dbuilding are
positioned such that their feet on
the ground are collinear and the
tree is located between Suhas and
the building. The tree is located at
a distance of 45 m from the
building. Further, the eyes of
Suhas, the top of the tree, and the
top of the building fall in one line,
and the eyes of Suhas are at a
height of 1.8 m from the ground.
At what distance (in m) from Suhas
is the tree located?



'1](»1—91 0/-
3
lo195+2s
@0

1835251460
| —>

A certain amount of money was
lent for a period of 1 year 9

months at 10% per annum
compounded annually. If the
compound interest is Rs 1, 460,
find the amount of money lent.

e Af¥ed wfdr 1 9f 9 78 &) 3@l
@ forg 10% aIffe Twgfg W W SUR
& g o) A} uwglE AW 1,460
PR B, Ol SUR & TS NN S
DI |

(a) Rs 8,200 (b) Rs 7,500

(c) Rs 6,000 \/ldfhs 8,000



A computer is available for Rs

< 5 39,000 on cash payment or Rs
;WJ,‘}E,(K‘ HWS'HROG(' CIQ,DD s cash payment followed
RXIV by five nthly instalments of Rs

4,200 each. What is the of interest

per annum under the instalment

685"04)& _ ‘w plan?
1RO - U6 PYSK 39,000 ITY P AdQ
YA W SUGE 8 A1 19,000 39 B
R=12°0 feo @ THE YIAE ¥ S ¢, e dQ
};'E’Qﬂ 4,200 T9A I Ui RS fHed g
gedl 2| fbed Qe & Sfaefa wfa o
...-—Q.Oz_g/ e e 87

19 17

Q‘l (a) 20 % (b) 20 %

20, 18,

1) 20 % (d) 20 %



The ratio of the radius of the base
and the height of a right circular
cylinder is 3 : 2, and its volume is
19404 cm3. What is the curved
surface area (in cm?2) of the
cylmder'-‘" (Take n = 22/7)

@Y qEG 90 @ MR B e
eﬁ-\r SdTg BT U 3 : 2 § 3R g
CILGE] 19404@111’%| 99 BT I
ISy &ama (@ #) fam 87 (v =
22/7 o)

(a) 1232 u(134§_,

(c) 1386 im-
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In the data set given below, what
is the difference between the
Median and the Mode?

= Ry T osiwe 3w 3

HifeaeT 3R IgaP H fHar R 87

2.2, &, 6, 7, 8, 9.3, 11, 15, 17,
19.21, 27, 31, 31, 33, 16.5, 14,

10}
(a) 19 JMN/

(c) 10 (d) 15



In a solution of water and milk,
the quantity of milk is double the

quantity of water. To pass the
quality standards, the solution

must contain 90% milk in it. If the
volume of the solution is v, then
how much pure milk in litres is to
be added to the solution to pass
the quality standard?

UM 3R U @ O H S D A 9
@ WA W QA 2 | O qHdl W
G SR @ foIg =i # 90% W B
ey | I O BT AT v B, A
T S Bl U R D fog ol
H fdhaem oiie g8 ¥ fRamar sgm?



In AABC , the straight line

ﬁ- parallel to the side BC meets
AB and AC at the points P and

Q, respectively. If AP = QC, the
4_ length of AB is 16 cm and the

\b length of AQ is 4 cm, then the
( & length (in cm) CQ is:
AABC #, 9ol BC & 9AMiax
@ e fdg P 3R Q W AB 3R
2 AC ¥ fiirdt 21 9 AP = QC 2, AB
@ wag 16 [H B AR AQ I ddTg
4 ¥ 2, 9 CQ H derE @h H) &

(a) (2J2_1 + 2) (b) (2J1—s . 2) f

%
[ -
Lf.l_xh\?é\_ O&'Lﬂweweo q)((le_‘?-z) (d) (2419 +2) ﬂzh)"’

1=42 ST ..}tﬁ,hfl}zi, 1 L



The cost of 3 breads and 1 packet of
juice at a certain store is Rs 323.50.
At the same store, the cost of 5
breads and 1 packet of juice is Rs
433.50. What will be the cost of 2
breads and 2 packets of juice at this
store?

& fAfEd g W 3 §s 3R 1 Uae
O @ PTG 323.50 IW B | U §BM
W 5 88 3R 1 Yo S P I

433.50 ¥ | §PM W 2 s 3R A
& 2 UYdhe DY DIHd 941 BRMI?

s 427 (b) Rs 350
(c) Rs 433 (d) Rs 404



1§

/12}1‘3” , /@’th )
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A sphere has a radius of 8 cm. A
solid cylinder has a base radius of 4
cm and a height of h cm. If the total
surface area of the cylinder is half

the surface area of the sphere, then
find the height of the cylinder.



A right-angled triangle ABC is
inscribed in a circle of radius 10 cm.

The altitude drawn to the
hypotenuse AC is of length 8 cm. If
AB = x cm and BC = y cm, then what
is the value of xy?

10 |41 A1 9t U g9 @ Heiid U
HHBIT ABC Wi&T Wrar | $ol
AC W M0 MN¥eg P o9 8 |H
%IH&AB=xW3ﬁ?BC=yﬁ%,
A xy BT A R 87

(a) 60 (b) 80

(c) 120 _Ad160



S sells an item costing Rs 37,800 to
P with 8% profit. P sells it to Q with
Teo a 4% loss. At what price (in Rs) does

P sell the item? (Correct to a nearest
rupee)

S, 8% O & I P I 37,800 ¥UU I

ANTd dTell U o] d99d1 81 P 9 4%
"’BTET?_ @1/) B @ 9 Q @I s9ar 8 P fy @

| W (P9 ¥) 9vg S9ar &7 (Modcaq 0
- PHx) ww

_ﬂj_l_ (a) 39,919 (b) 39,119
(e 39,191 (d) 39,911




SXR6
Ay g9t 579

Kapil initiated a business with an
investment of Rs 30,08;8668-in April
2022. After six months, his friend
kunal joined him with an investment
of Rs 25,600,888 In February 2023.
Kapil’s Ex-class fellow Saloni also
invested an amount equal to the
total investment made by the earlier
two partners. In what ratio the profit
earned after 3 years from the date on

which Kapil initiated the business,
will be distributed?

Hfual 7 AP 2022 F 30,00,000 T
& e & 9 (o aa ge e
BE WEM @ 9§, 9T QN FUId
25,00,000 ¥9Y & 99 & G SHD



A € Y| BRaW 2023 H, HUA D
W Ball oM 4 @ TEd @ QA
WRiERI gRT f6Y MU g e & e
IR H e | sd gRT S

0K - 23%30 1 SSXZ6 % 3 P TG ¥ 3 qf a9 e
ot wa&’r%ﬂﬂqﬁﬁﬁaﬁﬁm

(a) 332 : 200 : 50
( (b)108:75: 145?
(c) 432 : 300 : 55 }\g.al-oﬁ

(d) 432 : 400 : 55 }-l =



The ratio of cost price (CP) and
marked price (MP) of an article is
4 : 7. A discount of 20% is given on
MP and the shopkeeper made a profit
of Rs 80. Find the CP of the article.

fbdl 9% & WFd 9 (CP)
R 3ifhd Heu (MP) &1 U & 4 : 7.
(MP) R 20% &I B¢ & 7§ 3R HIR
P 80 BUY Bl @M FIAT| I $T (CP)
I N |

(a) Rs 190 (b) Rs 170

L/prﬁ 200 (d) Rs 180



